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1,405,372,000& 14 ,405,372
= ,264,835
< 42,161
Al 98,376
10 M2 SXNANEHEI2IHEX 297,731 301,011 A 3,280
OXNGXadH2g X & 297,731,000 » 14! 297,731
= 208,412
Al 89,319
Z2s8U=E ==z X2 Ex=2AE 663,771 322,259 341,512
= 597,393
Al 66,378
307 glz2+ol & 663,771 0 663,771
= 597,393
Al 66,378
11 AISISAASEE = 663,771 0 663,771
OsLISEEAY 1XIF 216,667,000 14 216,667
= 195,000
Al 21,667
O3S SHEAY 2K 393,110,000& 14 393,110
= 353,799
Al 39,311
OUgIISsSEAY 10,477,000 14 10,477
= 9,429
Al 1,048
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= 39,165
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= 203,871
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KNEANMBIAETAIS (REXNESE A AMEHA EX 3,397,857 2,847,621 550,236
Atel)
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o=} 203,871
Al 815,486
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05 QIZ2tE 2 3,397,857 2,847,621 550,236
OXEAMIMEIAEXAIS
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A EXAIS)
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01 AP 22| H| 3,000 3,000 0
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05 RIZt2IEt = 182,857 89,379 93,478
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Hees(Ma2a) 3,064,760 4,533,024 A 1,468,264
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= SHAMY HES 2,564,760 4,033,024 A 1,468,264
701 DBt HSHES 2,564,760 4,033,024 A 1,468,264
01 JIEtZIHEES 2,564,760 4,033,024 A 1,468,264
OCA=z=S0HAME AES 2,564,760,000& 14 2,564,760
NASEE = ANESE ZJBAMYE &3 500,000 500,000 0
701 JIEtSI HSHES 500,000 500,000 0
02 BILELHNIYNEES 500,000 0 500,000
ONASE &= ANEZ Z2UAMNE FES
500,000,000 =14 500,000
HE2AAH 186,907 169, 363 17,544
I (MESE ) 76,412 72,368 4,044
eI (M2 a) 76,412 72,368 4,044
101 124l 76,412 72,368 4,044
01 2= 75,023 72,368 2,655
OAt 28 10,003 & #2501 x300A| 2t 75,023
03 RIAHAZ 2 E + 1,389 0 1,389
ogazz+% 1,389
DUMETA(NEXE)
11,5743 x201x60 Al 2+ 1,389
22 (Mg2 &) 110,495 96,995 13,500
22 (M2 ) 110,495 96,995 13,500
201 Let24E] 76,375 75,675 700
01 At 2t 2l 54,627 53,927 700
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300,000& *2I4 123 7,200
DEX3I2 ZE0Y IS (XNEIIS)
1,600,000 * 14! 1,600
O5 2l 9,984
DOt 522 R 8,000& #2601 x43| x 128 9,084
02 =224l 21,748 21,748 0
O1 3323 ¥ HMA 21,748
PRERS 20,348
O SJI*H 1,930 7802 «12& 18,065
ogee=s 300 x63424 128 2,283
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1,400,000& * 14! 1,400
202 04l 16,120 14,880 1,240
01 S LHOIYI 16,120 14,880 1,240
OJleg a0l 12,120,000& 14 12,120
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4,000, 000& 14| 4,000
203 YR =&l 4,920 4,200 720
04 REN2ELRZ=TH 4,920 4,200 720
ORNMSIYRFLH 410,000& x12& 4,920
405 THabF S| 13,080 2,240 10,840
01 et LS =3 S| 13,080 2,240 10,840
OPC(LHl) 1,300,000 *6CH 7,800
OLE= 1,500, 000& = 1CH 1,500
OF [PSER=)=! 700,000 =104 700
Ol Xt 180, 000& =64 1,080
O2MMIEDI 1,200,000% =1 CH 1,200
OxMe&S2l 500,000 «1CH 500
OFSE=F=FE ] 300,000 1CH 300




